MAT 162—Exam #3—11/18/15

Name: % Lfvons

Show all work using correct mathematical notation. Calculators are not permitted.

1. (15 points) Find the sum of each series, or demonstrate that it diverges.
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2. (10 points) Consider the sequence a, = T Evaluate
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3. (10 points) Find the limit of the sequence a,, = nb/™. Show your work using correct
limit notation.
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4. (15 points) Consider the series S = Z —)~

n=1

(a) Determine whether the series converges absolutely, converges conditionally, or di-
verges. Justify your answer using appropriate tests.
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(b) Write out the fourth partial sum, Sy.

(c) How large must N be to ensure that the error in approximating S by the Nth
partial sum Sy is at most 10767
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5. (25 points) Decide whether each series converges or diverges, and justify your conclu-
sions using appropriate tests. You must give coherent arguments to receive credit.

() annn Y "‘ 'lﬁ < (E g — dx
n=2 7 )( lh,{ b - ot 2 ~ lk,(
Ind
v v oL s ‘fW\ g Al du
_ A w
(\UN X M b« w2

= L ( lw (\V\ \3) - (\n 1\)

Seres  QA¢ '\/‘(A"?SCJ

b~ A
ey 1m‘\~c3roi Tegt ‘ . 4
i 3+sinn “ l
n=1 \/m We ket ~l € 9w o w <
= 1 < 3¢ Siv h S L‘]

—
%

td J S Tu vy

NN
a
\I\
po)

o ,3IT o i and Yl senes Conveqges

\). T'!{f7"\ +y h )77 Om]aovrﬂqcm Wik &

[J,sovft,( (V; 7/27)>

n=1

| i ‘ 3

Rodvo  Test; P L (3n23) 0 ST G
kg g {CnH)‘,}a () |

: L (3r43) (3w t2) (Fnrt)

"o 5 ° (wH )3
. w
2y e l "b Lw\é{wj coe

Honer e sevies c\/\“vu’%eg‘




) N
6. (10 points) Consider the series S = Z a,, whose Nth partial sum is Sy = Z Q.-
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a) Suppose that Sy =5 — = for all N. Find the sum of the infinite series S.
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(b) Find a3, the third term in the series.
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7. (15 points) Find the radius and interval of convergence for the power series
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Justify your conclusions by citing appropriate tests.
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